
5) London zoo made an exchange deal with Luton zoo. They
exchanged 10 tigers, 5 lions and 15 chimps for 9 elephants, 15
deer and 5 giraffes. What would be the new count
of animals in each kind?

2) Are there more Chimps or Deer?

3) Which animal is double the count of
Giraffe?

Reading Bar Charts: Animals
T h e  g r a p h  s h o w s  s o m e  o f  t h e  a n i m a l s  a t  t h e
L o n d o n  Z o o .  U s e  t h e  g r a p h  t o  a n s w e r  t h e
q u e s t i o n s .

Name: Date:

1) Write a number at the end of each bar to display the
number of animals of each kind.

4) How many more elephants are required
to have an equal number of lions?

Tiger:       Lion:         Chimp:        Elephant:       Deer:    Giraffes
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Chimps

Tiger

45

240 170 240 160 129 95
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